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Ritp:/ffarbe i u-berlin.de/ CEB 7/CEB7LONA. TXT /.PS; start oltput
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu? triangle lightnesst*

t* Yoc=Yw - nc=100,

L AgaNDU7=IN(A 17 +AZY)(A2rAon)  (Yad100<Y<=Y,o)
L ABINDU7=IN(A 1+ A2X)(AgAon)  (X=YTY)
1 (3,6)=174 " ,(18)=396 t* (90)=616

L* =49, t+ =392

0761573, AL ¥ (00876, §=084
t*1g=3¢ 5,50, A0 G4, A=0,0048 —
13,61 73,94 t#,=3¢ 50 Y,=18 : ?al\ar%lganon

=1

LABJINDu?7
tristimulus value difference
Yoe=Yw - nc=100,

L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDU7=IN(A 10+ A2 (A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aon a=1,0, see CIE 230:2019

‘0

.
15 dY,/,=0.2084 (@
log(dY)=0,15 m,=",85 i
dYoq=0,67. “pr=1.5, Aoy 88761 G=0,84 = = = =
dYye=C,15 %2052 B,=0,0048 ragﬁ"ga“on
dY3,5=0,04 Y,=18, dY=0,15 sl 9

log AY/Y)

xN=0,2 Xw=5

LABJINDu7

_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Yoo)
L AgINDu7=IN(A 10t A2X)(A2iAon) - (X=YTY)
AY/Y=Agn(A 1+ Ao )Y=Aon(Arn+AsX)Y

(AY/Yy=0,u375, Ay=1,5, £, =0,0876, ¢=0,84
(dY/Y)g=0,0084, X =0,014, A,=0,0048
(dY/Y}60,0134 Y, =18 ayFv.15

»
log(dY/Y)-2,07, m;=-0,fa y o application
S R N §ohge
t+,=396 dY,=0,15 dY,/Y,=0,00841
1

1
=1

log (Y/AY)

xN=0,2 Xw=5

LABJINDu7

tristimulus value contrast

Yoc=Yw nc=100

L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)

tLaBINDU7=IN(A 10t A2 )/ (AoAon)  (X=YTYY)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(YIdY}o=132,52, Ay=1,5, Ay =0,0876, ¢=0,84
(Y/dY)g=117.67, A,=0,014, A4,~0,0048
(Y/dY},=75,42 ¥,=18, dY=0,15

=398 dY,=0.18 Y/dY,=117
®

C,=(Y/AY)

I,

log(AY/AY,)

LABJNDu? relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

tLagaNDu7=IN(A 1+ ALY (A2rAgn) - (Yad100<Y<=Y,o)
t*LaganDu7=IN(A 10+ A2X)(AzA0n) — (X=Y/Y)
tN(3,6)=174* ,(18)=396 t*y(90)=616
t*go/t*=1,55, Ay=1,5, Ay =0,0876, ¢=0,84
t* g/t =100, A,,=0,014, /5,=0,0048
%3 /t*,=0,43,1%,=395 50 Y=18
log[t*/t*,]=0, m,=0,33
1 application
0 range
%=1

LABJNDu? relative
tristimulus value difference
NNy Yoc=Yw - nc=100,
tLagaNDu7=IN(A 1+ AY)(A2rA0n)  (Yad 100<Y<=Y,o)
tLaganDu7=IN(A 1t A2X) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoo/dY,=4,43, Ayy=1,5, Ay=0,0876, ¢=0,84
dY;¢/dY,=1,00, A =0,014, A.=0,0048
dY; ¢dY,=0,31, Y,=18, dY=5,15 ka

t+,=396 d >
application
nge

=1

Xw=5

CEB70-4A

1og [(AY/Y) I (AYIY),]

LABJNDu? relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc

tLaganDu7=IN(A 1+ A Y (A2rAcn)  (Yad100<Y<=Yyo)
tLaganDu7 =IN(A 1t A2 (A2iAon) - (X=YTYy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(@Y/Y)o(dY/Y)-1.88, Ay=1,5, Ay, =0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=1.00, A =0 014, /4,=0,0048
(AY/YY g(dYIV)=1 55 Y,=18, dY=0.15
v

A N
1og[(dY/YY(dY/Y),]=0, m=-0,13
t*,=396 dY,=0,15 dY,/Y,=0,0084}

=1

application
range

XN=0,2 Xw=5

CEB70-6A

log [(YIAY) / (YAY),]

LABJNDu? relative

- tistimulus value contrast

ColCy = (YY), v 2y 2 2160

tLagaNDu7=IN(A 1A Y (A2rAgn)  (Yad/100<Y<=Yyo)

tLagaNDu7=IN(A 1t AX) (A2iAon) - (X=YTYy)

(YIYY(YIY) =X (At AN (A 15+A2y)
(YIAYyo/(Y/dY)=1,12, Ay=1,5, Ay, =0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A ,=0,014, A;=0,0048
(Y/dY} ¢/(Y/dY)=0,64 Y,=18, dY=0,15

application
range

LABJNDu? triangle lightness T*
YoceL*w - ne=100,

T*LABINDU7=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDu7=IN(A 10t A2 X)/ (A2iAon) - (X=Y1Yy)
T (3,6)=174.T* ,(18)=396,T*,(90)=616

*o=615,73, £y L3Ry, ~0,08¥6, ¢=0,84
T*157395,50, /yrf O 414, A4,=0,8048
T3 =173,947%; 316,50 Y=18}

X %=1
|
xXn=0,2 pxw=5

application
range

CEB71-1A

logAY) LABJNDu?
AY tristimulus value difference
Yo=L*w  ne=100,

T*LABINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aon a=1,0, see CIE 230:2019

»
-

T%,2396 dY,=0.15 dY/Y,=0.00P + 2
log(dY)=0,15 m,=0,85 e
dYog=0,67, Ayr=L,5, £, =5 88761 ¢=0,8% = = = =
dY,g=0,15, A, - .27, B, =0,0048 ragﬁ"ga“on
dYs=0,04 Y,=18, dY=0,15 9

XN=0,2
CEB71-3A

log AY/Y) LABJNDu?
tristimulus value sensitivity

SEERY) Yocml*w © nc=l
T*LaBINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYY)
AYIY=Por(A it AgnY)Y=Ag (A it AgX)/Y
(dY/Y}g=0,0075, Ay=1,5, Ay =0,0876, ¢=0,84
(dY/Y)g=0.00t % A=0,014, A4,=0,0048
(dY/Y}=0,0132.." =12 dY=0,15
%

log(dY/Y)E-2,07, m,=-0, Bsx
T%,=396 dY,=0,15 dY,/Y,=0,0084
1

application
* = Wonge

1
=1
XN=0,2 Xw=5

CEB71-5A
log (Y/AY) LABJNIli)u7 |
C=(viY) $ﬂ|§2rﬂlws va:\1 cu:e1 ggntrast
T*LABINDu7=IN(A 17+ A2Y)/(A2nAon)  (Yd/100<Y<=Yno)
T aganpu7=IN(A 10+t A (A Aon) - (X=YTY,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}o=132,52, Ay=1,5, Ay =0,0876, ¢=0,84
(Y/dY)g=117,67, Ay=0,014, A4,=0,0048
(Y/dY},=75,42 ¥,=18, dY=0,15
T+,=396 dY,=0,15 Y,/dY,=117

-

log(Y/dY)=2,07, m=0,13 47"
> s application

0 range

L

=l

xN=0,2  Ixy=5

CEB71-7A
CEB71-7N

THT* LABJNDuU? relative triangle lightness T*/T*

THT*, Yoc=L*w - nc=100,

T*LABINDU7=IN(A 10+ A2RY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*Laganpu7=IN(A15+AX)/ (A2iAon) - (X=Y1Yy)
TN(3:6)=174T* ,(18)=396,T*,(90)=616
T*9o/T*,=1,55, Ay=1,5, Ay,=0,0876, ¢=0,84
T*19/T*,=1,00, A ,=0,014, A;=0,0048
T3, T#,=0,43,T4=395,50 (=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEB71-2A

log(AY/AY,) LABJINDuU7 relative
tristimulus value difference

INUNS VLS VAl 5o
T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LABINDu7=IN(A 10t A2) (A2 Aon)  (X=YTYY)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,5, Ap=0,0876, ¢=0,84
dY,5/dY,=1,00, A=0,014, A,=0,0048
dYs,gdY,=0,31 Y, 18, dY=0,15 +

CEB71-4A
log [(AY/Y) | (AYIY),] LABJINDU? relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDU7=IN(A 10+ARY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDu7=IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y}o(dY/Y,=0,88, Ay=1,5, Ay, =0,0876, ¢=0,84
dYIY)g/(dY/Y)=s 0. A=0,014, A=0,0048

10g[(dY/YY(dY/Y),]=0, mu=—0,l3. K
T+,=396 dY,=0,15 dY,/Y,=0,0084
Ix,=1
Xn=0,2 Xw=5

application
range

CEB71-6A
log [(Y/AY) I (YIAY),] LABJINDuU? relative
tistimulus value contrast

CrlCru=(YIAI(YIAY), v 21, > 2100,

nc

T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LABINDU7=IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

(YIdYyg/(YIAY)=1,12, Ay=1,5, Apy=0,0876, ¢=0,84

(Y/dY)g/(Y/dY)=1,00, A=0,014, /5,=0,0048

(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,15

log[(Y/dY)(Y/dY),]=0, m,=0,13

application
range

CEB71-8A

TUB-test chart CEB7; LABINDU*(Y) & T*(Y), Yac=(Y&L*) wrcBne =0,86, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,014, A,=0,0049, A,=0,08
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